
How to tie a full Windsor knot: 

2.	Cross the wide end over 
the narrow.

3.	 Pull up from underneath to create the 
foundation of the knot.

1.	 Begin by draping the tie over your neck 
with the wide end on the right, narrow 
end on the left. The wide end of the tie 
should be longer than the narrow end.

4.	 Lay the wide end down and 
to the left.

6.	 From the front, bring the wide 
end back up through the centre, 
towards the neck loop.

7.	 Bring the wide end back down and  
then right this time around.

8.	 Bring the wide end over the 
front of the narrow end,  
from right to left.

9.	 Bring the wide end up into the neck 
loop from underneath once more.

10.	Tuck and pull the wide end 
through the small loop  
you’ve created.

11.	 Straighten it out by pulling the wide end of the tie,  
then slide the knot up. Adjust as needed, but stop 
once you get a comfortable, symmetrical triangle.

Tied correctly, it is symmetrical, easy to untie,  
and doesn’t choke the wearer.

5.	 Then around the back of the 
narrow end and to the right.


